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B. B. A. IN RETAILING (BBARIL)  

Term-End Examination 

June, 2025 

BRL-115 : RETAIL SUPPLY CHAIN 

MANAGEMENT  

Time : 3 Hours  Maximum Marks : 100 

Note : (i) Attempt any five questions. 

 (ii) All questions carry equal marks. 

1. Explain the steps involved in Retail Supply 

Chain Management (RSCM). Also discuss 

the importance and elements of Supply 

Chain Management (SCM) in retail.  6+7+7 

2. What do you mean by Demand Forecasting ? 

Explain any three methods and techniques.  

5+15 

3. Define Inventory Management. Explain 

various Inventory Control Policies. Discuss 
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the role of Just-in-Time (JIT) and Multi-

echelon Inventory Optimization.  4+8+8 

4. Explain the vendor selection process. Also 

explain various vendor performance bench- 

marks.   20 

5. What is Reverse Logistics ? Explain its 

process and design with suitable examples.   

8+12 

6. What do you mean by waste reduction ? 

Discuss some of the best practices to reduce 

waste.   4+16 

7. What is Supply Chain Performance 

Measurement ? Explain the Key 

Performance Indicators (KPIs) for 

Inventory, Order Management, Supplier 

Performance and Transportation. 4+16 

8. Distinguish between any four of the 

following :  4×5=20 

(a) Logistics and Supply Chain 

Management 
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(b) Demand Forecasting and Demand 

Sensing 

(c) Vendor Managed Inventory (VMI) and 

Consignment Inventory  

(d) Cross-Docking and Traditional 

Warehousing  

(e) Outsourcing and Offshoring  
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ch- ch- ,- (fjVsfyax)  

(ch- ch- ,- vkj- vkbZ- ,y-) 

l=kar ijh{kk  

twu] 2025 

ch-vkj-,y-–115 % [kqnjk {ks= esa vkiw£r Ük`a[kyk 

izca/ku 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % (i) fdUgha ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA  

1- [kqnjk vkiw£r Ükà[kyk izca/ku (RSCM) esa 'kkfey pj.kksa 

dks le>kb,A [kqnjk {ks= esa vkiw£r Ükà[kyk izca/ku 

(SCM) ds egRo vkSj ?kVdksa ij Hkh ppkZ dhft,A  

6+7+7 

2- ek¡x iwokZuqeku (Demand Forecasting) ls vki D;k 

le>rs gSa \ fdUgha rhu rjhdksa vkSj rduhdksa dks 

le>kb,A   5+15 
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3- bUosaVªh izca/ku dks ifjHkkf"kr dhft,A fofHkUu bUosaVªh 

fu;a=.k uhfr;ksa dks le>kb,A tLV&bu&Vkbe (JIT) rFkk 

eYVh&bpsykWu bUosaVªh vuqdwyu dh Hkwfedk ij Hkh ppkZ 

dhft,A   4$8$8  

4- foØsrk p;u izfØ;k vkSj fofHkUu foØsrk izn'kZu ekudksa 

dh O;k[;k dhft,A 20 

5- fjolZ ykWftfLVDl D;k gS \ bldh izfØ;k vkSj fMtkbu 

dks mfpr mnkgj.k lfgr le>kb,A 8$12 

6- vif'k"V esa deh (waste reduction) ls vki D;k 

le>rs gSa \ vif'k"V dks de djus ds fy, dqN loksZÙke 

rjhdksa ij ppkZ dhft,A 4$16 

7- vkiw£r Ükà[kyk izn'kZu ekiu D;k gS \ bUosaVªh] vkns'k 

izca/ku] vkiw£rdrkZ izn'kZu vkSj ifjogu ds fy, izeq[k 

izn'kZu ladsrdksa (KPIs) dks le>kb,A 4$16 

8- fuEufyf[kr esa ls fdUgha pkj ds chp varj dhft, %  

4×5=20 

(d) ykWftfLVDl vkSj vkiw£r Ükà[kyk izca/ku 
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([k) ek¡x iwokZueku vkSj ek¡x lsaflax 

(x) foØsrk izcaf/kr bUosaVªh (VMI) vkSj dalkbuesaV 

bUosaVªh 

(?k) ØkWl&MkW¥dx vkSj ikjaifjd xksnke 

(³) vkmVlks£lax vkSj vkWQ'kksfjax 

× × × × × 

 

 

 

 

 

 

 

   


